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216 01 Xt 2 5,000 5,000 0
216-01 BB 30/ X4 ¢ 5,000 5,000 0
<EHILTAYL > 5,000 5,000 0
OB20I2 01X+ 5,000
220 4 AITAIS| 4 20,000 20,000 0
222 R et3 20,000 20,000 0
220-02 UBHE LD 20,000 20,000 0
<EBILTAAA > 20,000 20,000 0
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700 2EALS U2 400,000 354,760 45,240
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711-01 =M H Y012 400,000 354,760 45,240
<EBILTAAA > 400,000 354,760 45,240
O=NH 2013 400,000
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230+ B2 153,210 283,320 A 130,110
201 L2l 2,520 2,160 360
02 22224l 2,520 2,160 360
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300& = 70024 = 123 2,520
202 oddl 2,190 2,160 30
01 = LH o4 1l 2,190 2,160 30
Oot=22 &8 ¥ ExHL2 F& 2,190
207 A RO H| 8,500 19,000 210,500
01 22 ESHI 8,500 19,000 210,500
Oot=% |t 284 8,500
401 Al&HI & 28I 140,000 260,000 A 120,000
01 A& HI 140,000 260,000 A 120,000
St=XelAld e 2 THoHOHHl 222 80,000
Oot=22 =4 B 60,000
[ {M=1Rs]! 511,790 336,440 175,350
801 oIl 511,790 336,440 175,350
01 BHoil bl bl 511,790 336,440 175,350
Oolgl bl 511,790






